
(𝐻3𝑂+ + 𝐶𝑙−)𝐴𝑙

𝐴𝑙3+𝑡 = 0𝑚0 = 0.81𝑔

𝑉 = 100𝑚𝐿𝐶 = 0.3 𝑚𝑜𝑙 𝑙⁄

𝑡(𝑚𝑖𝑛)
𝑉𝐻2

(𝑚𝑙)

[𝐴𝑙3+](𝑚 𝑚𝑜𝑙 𝑙⁄ )

-

-

(𝐴𝑙3+ 𝐴𝑙⁄ )(𝐻3𝑂+ 𝐻2⁄ )

-𝑥𝑚𝑎𝑥

[𝐴𝑙3+](𝑡)[𝐴𝑙3+](𝑡) =
2𝑉𝐻2

(𝑡)

3𝑉×𝑉𝑀

𝑉𝐻2
(𝑡)𝑉𝑀

[𝐴𝑙3+] = 𝑓(𝑡)

[𝐴𝑙3+]𝑓𝑡 = 8𝑚𝑖𝑛

-𝑡𝑣 =
1

2
×

𝑑[𝐴𝑙3+]

𝑑𝑡

𝑡 = 2𝑚𝑖𝑛 𝑡 = 6𝑚𝑖𝑛

𝐻3𝑂+

-𝑡1 2⁄  

-𝑡 = 5𝑚𝑖𝑛

𝑀(𝐴𝑙) = 27𝑔. 𝑚𝑜𝑙−1𝑉𝑀 = 24𝐿. 𝑚𝑜𝑙−1



𝐶𝑜60

I.1(𝑁 − 𝑍)

- 

- 

- 

- 

𝐶𝑜27
60

-

60

II.60

𝑚0

2𝐴

1-

2-

𝐴(𝑡) = 𝐴0𝑒−𝜆𝑡

3-𝐴0

𝑡 = 0

4-𝑡 = 𝜏

𝜏𝜆

5-𝑚0

6-5

- 𝐴

- 100𝑘𝐵𝑞

𝑁𝐴 = 6.02 × 1023𝑚𝑜𝑙−1

1

2




